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ANSWER ALL QUESTIONS

1. State the kinetic theory of matter                                                                                    (1mk)





2. A chimney and a fire help to ventilate a room. Explain                                                   (2mks)







3. What is the reading indicated by the arrow below                                                            (1mk)






4. Explain how a fountain pen is filled up with ink                                                              (2mks)








5. Amass of 7.5kg has a weight of 30N on a certain planet. Calculate the acceleration due to gravity on the planet                                                                                                         (2mks)





6. Describe  how  you can separate two glass bowls stuck together inside the other          (2mks)






7. In the figure below ammonia gas and an acid gas diffuse and react to form a white deposit on the walls of the glass tube. The deposit forms near end B                                                       

 a) Which gas diffused faster?                                                                                       (1mk)






b) If the temperature was increased during the experiment explain what would happen (2mks)









8. A thermos flask (vacuum flask) is made in such a way that it prevents heat loss through the three modes of heat transfer. Describe how it prevents heat loss by radiation                (2mks)








9. How do you reset the following : 

i) A six’s thermometer                                                                                             (1mk)




ii) A clinical thermometer                                                                                      (1mk)
10. 1800cm3 of fresh water of density 1000km-3 is mixed with 2200cm3 of sea water of density 1025kg-3. .Calculate the density of the mixture.                                                           (4mks)














11. The mass of a lump of gold is constant everywhere but its weight is not. Explain.       (1mk)







12. Distinguish between natural and forced convectional currents                                   (2mks)








13. Give two positive effects of  anomalous expansion of water                                       (2mks)





14. In which state of matter is diffusion highest?                                                             (2mks)





15. Ina hydraulic press a force of 200N is applied to a master piston of area 25cm3. If the press is designed to produce  a force of 5000N, determine                                                                      
       a)  The area of the slave piston                                                                                    (3mks)










       b)  The radius of the slave piston                                                                                 (2mks)








16.  Describe how you can determine the volume of an irregularly shaped object. Use diagram illustration                                                                                                                             (4mks)










17. The figure below shows a U tube filled with water, mercury and another liquid X. Determine the density of liquid X.                                                                                                         (3mks)








18. a) State the basic law of electrostatics                                                                               (1mk)
  b) Describe how you can change an electroscope positively using a negatively charged rod (4mks)











c) Explain why fuel tankers have a loose chain hanging under them to touch the ground as they move                                                                                                                                       (2mks)









d)  A positively charged rod is brought near the cap of a lightly charged electroscope. The leaf first decreases in divergence, but as the rod is brought nearer it diverges. State the charge of the electroscope and explain the behaviour of the leaf.                                                           (3mks)










e)  State two applications of  electronics                                                                             (2mks)





19.  a)State the laws of reflection                                                                                           (2mks)


      b) At what angle would two mirrors be included to form 8 images                           (2mks)







 c) A lamp of height 6cm is infront of a pinhole camera at a distance of 24cm. The camera is 8cm long. What is the height of the image?                                                                    	            (3mks)







d)  Complete the ray diagram below to show how the eye views the tip of a light candle inside the mirror.                                                                                                                            (2mks)




e)  A plain mirror lying with its face up makes angle with 250   with the horizontal. A ray of light shines down vertically on the mirror as shown below                                                       
i. What is the angle of incidence                                                                           (1mk)





ii. What angle will the reflected ray make with the vertical?                               (1mk)







f)  A girl stands 20cm infront of a plain mirror. If the mirror is moved 0.6m away from the girl what will be the distance between the girl and her image?                                                (2mks)





20 a) Define current and state its SI unit.						        (2mks)








b) A charge of 300 coulumbus flows throw a lamp every minute. Calculate the current flowing through the lamp.										(3mks)










c) Draw a simple circuit of three cells connected in parallel with a bulb and a switch.	(2mks)










d) What is the difference between electromotive force and potential difference of a cell?	(2mks)









e) Eight dry cells can be arranged in series to produce a total e.m.f of 12V. What is the e.mf of an individual cell?										(2mks)


f) Three bulbs are connected as shown below













Explain what happens to the bulbs when the switches;

a) S2 is closed and S1 and S3 are open.							(2mks)










b) S1 and S2 are closed while S3 is open.							(2mks)
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